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Analytics Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 8650044172 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to 20)
Data Sufficiency
OTPoT DUPRE

Note: In questions numbered 1 to 20. a question 15 followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropniate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) 1f both the statements [ and II are sufficient to answer
the question but neither statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements I and I together are not sufficient
to answer the question and additional data 1s requared.
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Sub questions



Question Number : 1 Question Id : 8650044173 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If p and q are integers. is p=>q?
p S0doiw gen :.}Jﬂg“o?e.:m@, p>qg eaHoo 7
. B4

6 3
II. pisamultiple of g.

q CO0E), 208 (DE22EA P.

Options:
!

I3

a

(]

3

=
A%

Question Number : 2 Question Id : 8650044174 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the value of p?
p CIng) Ded dodd ?

I.  pisaprime number
P 2.8 TR0

II. pisan even natural number
p &S b E}Faﬁomé.

Options:
!

I3

a

(]

3

=
A%

Question Number : 3 Question Id : 8650044175 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the perimeter of the triangle ABC? C
ABC 8223200 g thitnEod dod ?
L x=45°
II. The area of the triangle is 18 sq.cm
es 8o D70l 18 . 0.8 A

Options:
!



]

L2

=
I

Question Number : 4 Question Id : 8650044176 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Is the natural number m even?

"n:-‘?’.:“ae.;}oa,:&]s m, *5:5&‘63a3::“5 ?

L m 15 a multiple of an odd natural number
208 8 ’eafmaa.“’cocaas aBg), 2.8 o330 M

II. m 15 the LCM of two odd natural numbers
Socs) &8 RTPRRIT(L TV, £..00. m

Options:
1

k-3

a

(]

3

=
i

Question Number : 5 Question Id : 8650044177 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Is the positive mteger n a prime?
@éf@gﬂosm N 28 D" "n::o&:!“é ?
. The number of positive divisors of n” is 3.
n° cﬁnsb QR RTW ‘;m:a:s < 4
II. nisadivisor of 1155,
1155 03.1::5& 208 2P25:000 N.

Options:
1 1

]

-
=

Question Number : 6 Question Id : 8650044178 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If aand b are real numbers. is their product ab negative?

a <000k b o7 izoa,:éumaa, T8 e.:eé:n;.‘m ab mw@és;ﬁr -
L 5Ja]+3bj=0

II.  5laj=3b

Options:



L
Ga B

=
A%

Question Number : 7 Question Id : 8650044179 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What is the value of 119x + 247y?
119x + 247y 0308), Dend dod?
I 119x+246y=482
II.  x1s greater than y by 2.
Y Soéd X Cotd Blala

Options:

1

]

A

faa

3

B

4.

Question Number : 8 Question Id : 8650044180 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Does the point P (a, b) lie in the first quadrant?
P (a, b) Do) VG J 0’ Gotol?
L. a+b=2
II. ab<-2
Options:
11

L
Ga B

=
=

Question Number : 9 Question Id : 8650044181 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What is the cost price of the pen?

e3 2 (Swo) B8 E’aﬁi DO Jodh?

I.  TIfitissold for Rs. x + 2. the profit will be 5%.
T A, x+2 & w&:&é, Sy ergo 57.

II.  TItis sold for Rs. x at a loss of 5%.

oD 5% ;ég“:}é dr.x & 55;53%,’?63.



Options:
1 1

L
s B

-
=

Question Number : 10 Question Id : 8650044182 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is (x> +v)'” an integer

(+7)" w8 grgheary?

I x4+ }-’3 1s a multiple of 125,
125 cB0E), 28 Msasw (X +y)

3 3 = A . .
II. x + v is equal to the volume of the cuboid whose dimensions are 16 cm. 125
cmand 27 cm

16 0.2, 125 Do.aD, 2080k 27 Vo.2D, HDBIrEr20r $DAD 28 8¢
LOBB0 WY, IDBITRIVID (X7 +7) DSTDo.

Options:
1

k-3

+
-0

Question Number : 11 Question Id : 8650044183 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a 1s the average of the numbers 1. 2. 3 and x. then what is the value of a?

1,2,3 208050 X RDogdfe) VOB a wowd, a avs), DeD Jodh?
) :
L @= E{{m: —x)
II. xisan integer.
X 25 o) el LS
Options:
11

k-3

=
A%

Question Number : 12 Question Id : 8650044184 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Is the product of the integers a. b and ¢ equals to 17
a, b 0bodw ¢ ang‘aoa:su ug:m 1 8 RDIAFDHAT?
. a=0b>0.c>0

H. a+bte=3

Options:
11

-3

3
4 4

Question Number : 13 Question Id : 8650044185 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. A B rd
What is the value of ﬂ—:, e
b2 ° ¢?

© 2 ag), Densd dods?
el -

L a=2¢
b c
Options:
1
5 2
3 B
4 4

Question Number : 14 Question Id : 8650044186 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many cylinders each with a radius 27" and height 6" can fit into the rectangular box?
28 QGBI Y PSS, 28 B 27 J(ACAw, 6B £9HD ArDAL I
RO ARV 7

I: The volume of the box 1s 230 cubic inches.
&5 28 WRD0ATR0 230 D0 edofovreD.

II.  The length of the box 1s 3™,
&5 DO Ty 37

Options:
11

2

3 3



4 4

Question Number : 15 Question Id : 8650044187 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the diagram given. ZABC = 90°. Then what is the value of z?
& f{g%‘ﬂ\g?ﬁé QN DHeoed” LABC =90% €9:DC Z DD dodh?

I.  The value of y is three times the value of z,

y G308 DD Z DD 3 Bw. .
II. The value of x 1s half that of z. B i
X CB0E), Dend 2 Dewes” Dfo. A
Options:
1
o iR
3 3
4 4

Question Number : 16 Question Id : 8650044188 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A. B and C are digits between 0 and 9 inclusive. Then what 1s the value of B?
A, B 2080t Cen 0 080w 9 © 2065 TOS B o eoSewn. NG B eV aoch?

AB

[ B4

AAC

II. A=1

Options:

1 1
7. 2
3 3
4 4

Question Number : 17 Question Id : 8650044189 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a, b. c and d are integers, 1s the sum ab + cd an odd integer?
3,b,c obain d OB RYFT oS NS, ab + cd AW wE 3 Roary?

I.  aand c are both even mtegers.
a S0dBo3w ¢ &° Bokr PO Roa(en.

II. bisaneven integer and d is an odd integer.
b 2.8 2BRe] B0 d 28 BN,



Options:
1 1

L
s B

-
=

Question Number : 18 Question Id : 8650044190 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b. m and n are distinct positive integers such that a™ = b". then what is the value of
at+b+m+n?

a” = b" eschyeenr a,b,m Hdain N e DDI) PVYFTeSVANS , a+b+m+n
WS, DD dod?
I.  Each of a. b. m and n 1s less than 10.
a,b,m 08k n e DB 2088 10 S0kl S8 .
II. b'=8l.

Options:
1

k-3

+
-0

Question Number : 19 Question Id : 8650044191 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

With reference to the given figure. what is the value of ¢ + d?
SSHeI0 c:’;‘;.,%“é, c+d CBE), Ded Jodh?

. b+f=80

0. a+b=110

Options:
1

L
G B

+
-0

Question Number : 20 Question Id : 8650044192 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If x and v are both integers and their product xy < 0. what is the difference between x and y?
X 0bB0i0 vy e Boll ;‘g_jag;:oaasw S08asn T0ed Ug;ﬁu xy < 0 eo00@, X Sodaiv y
© 206 E3C5a500 doeh?
T
II. -3 =< Y
Options:
1 1

-3

=
aws

Question Id : 8650044193 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21 to 30)

Problem solving
ATy D
Sequence and Series
900807780, Bradew

Directions for questions 21 to 30.

21 Ao 30 HOL 0 PT) VS FBHE

In each of the questions 21 to 30 an analogy with two strings of numbers or letters or
both are given following a definite pattern on the left. Identifying this pattern, vou have
to fill the blank space on the other side analogously from among the four options given.

21 A00c 30 HOL v PI) B° W8 DB AT DD Doad Tor
wiTrod Jor DodBE J0\AD Do DOmR D7) on. & ArBEI0080D B
TDLeS” Bocdpa) fie 39D, BDND TR DDSR oC JoDdE B, 2 morens
2rBodod.

Sub questions

Question Number : 21 Question Id : 8650044194 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

4 -80::5:
Options:

| 220

, 150



Question Number : 22 Question Id : 8650044195 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DIME : EHOC :: RING :
Options:

1. SGPE

, SHPE

~ SHPF

[RN]

, THPE

Question Number : 23 Question Id : 8650044196 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AXE : EYI:: GEL :
Options:
| LFM

, LEN
, HIM
, HER

Question Number : 24 Question Id : 8650044197 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

KUWER : OYAV :: : HIPQ
Options:
, DFLM

DFLN
DELM

L2

 DFKM

e

Question Number : 25 Question Id : 8650044198 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

5:100::10:
Options:
900

800
3, 700

L2



4, 600

Question Number : 26 Question Id : 8650044199 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

64 :100: 72 :
Options:
| 144

121

L2

112
;. &1

Question Number : 27 Question Id : 8650044200 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

22025257

Options:
| 0.05

0.025

L2

5 125

4, 0.04

Question Number : 28 Question Id : 8650044201 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

BREF : AOK :: TSM :

Options:
,
, SPR
; STO
, SQH

Question Number : 29 Question Id : 8650044202 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AJE :EKI::ISO:
Options:

| LTV
LRU

; OTU
OTS

L2



Question Number : 30 Question Id : 8650044203 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AUNTY : CSPRA :: UNCLE:

Options:
| XLEJIG

, WLEJH
WPEJG

- WLEJG

I

Question Number : 31 Question Id : 8650044204 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aod 35 HOSH (v Q%‘;LE.JPSG 20T’0AT A Botiod.

Options:

i NP

5 PR
Us
EG

Question Number : 32 Question Id : 8650044205 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00& 35 H6D K D) 0S° BTV HBotOE.

Options:
Lawyer
| orodd

Counsel

s° :}:}6

Advocate
@c‘p&éﬁ

Judge
26,
i)

Question Number : 33 Question Id : 8650044206 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In questions 31 to 35 pick the odd thing out
31 Aod 35 HESH (o Q%‘lﬂﬁﬁﬁ 2TV ABotdodt.

Options:

| SCANT

FLUSH
RIVER

, CROWD

Question Number : 34 Question Id : 8650044207 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &dec 35 HED (o Q%‘lﬂﬁﬁ 2T DD ABotdodt.

Options:

| CRY

, JOY

5 FRY

. TRY

Question Number : 35 Question Id : 8650044208 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aod 35 HESH (o Q%‘lﬂﬁﬁﬁ 2TV ABotdodt.

Options:
;. Teach

, Explan

Instruct

[

4 Educate

Question Number : 36 Question Id : 8650044209 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Aood 45 Hdda fe gﬁiug} EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
QDAY Jreanae) ow. P8 DI 67 BDD T DDYEPO0E DOV DIFEPADNOR LD
esa08a0 DobhardE sorio Seridior SyFlodiod

6, 11,2751,

Options:
; 66

L2

Question Number : 37 Question Id : 8650044210 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Aol 43 D020 e ‘gﬁimg} AFCSED

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID

RODATAY Jrehinaey ow. DS HF) S BDD Trenih DDYEPR0E DBV DAFEPHINOD JohED
esa08a0 DobhardE sorio Seridior SyFlodiod

7.26. 124, 342,

Options:
| 524
, 850
5 1330
, 1331

Question Number : 38 Question Id : 8650044211 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te gﬁiug} MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Moo 45 H6L o DO g&;e‘i‘m FDND VoDV, VETLID, DEPLUSD, BECROETD, 2.8 SaER0D

RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
esa08a0 DobhardE sorio Seridior SyFlodiod

2:3:4.6;6, 9,8 12, 10,

Options:



[
[—
o

Question Number : 39 Question Id : 8650044212 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te @%‘lt}g} MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00d 45 HOD (o RS HF) S’ DD DoPVFRLSD, VATV, DEPENS), WVECVOET, 2.8 LDEID
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO

esa08a0 DobhardE sorio Seridior SyFlodiod

v o
3’4’6’8
Options:
2
1 10
10
O
11
12
3
13
d, T

Question Number : 40 Question Id : 8650044213 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te @%‘lt}g} MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s siven. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO

esa08a0 DobhardE sorio Seridior SyFlodiod

0..5.% 11,34

Options:

7 &

2 36



Question Number : 41 Question Id : 8650044214 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te g@img; MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS gﬁiﬁﬁm DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
B9A05a) MoLards Horio Seritii® DTFHodod

24, 60, 120, 210,

Options:

| 316
336

, 396
420

Question Number : 42 Question Id : 8650044215 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te g@img; MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS gﬁiﬁﬁm DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
RODLAFAY FeehinTe) on. DA D) S BDD T DDYEPO0E HBODH DAFEPHINO[ JoEND
esa08a0 DobhardE sorio Seridior SyFlodiod

1.8.22.50, 106,
Options:

148
172

L2

196
218

Question Number : 43 Question Id : 8650044216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Aood 45 Hdda fe gﬁiug} EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.
36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID

QDAY Jreanae) ow. P8 DI 67 BDD T DDYEPO0E DOV DIFEPADNOR LD
esa08a0 DobhardE sorio Seridior SyFlodiod

2.3.6,11.18.
Options:

| 24

Question Number : 44 Question Id : 8650044217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Aooc 45 36 fie @ﬁiug} Arciden

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Ao0d 45 HOD (o DS HF) S’ VDD DoPVFRLSD, VAT, DEPENS), WVECVOET, 2.8 LGOI

RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
esa08a0 DobhardE sorio Seridior SyFlodiod

10, 30, 130. 350,

Options:
1 750

1080

L2

1342
1568

Question Number : 45 Question Id : 8650044218 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te gﬁiug} MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID

RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
esa08a0 DobhardE sorio Seridior SyFlodiod

Options:



L2
(8]

Question Id : 8650044219 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Data Analysis
GEroT D00
In the following table, the distribution of marks obtained by 100 students in two papers
in mathematics 1s given. Study this table and answer the questions 46 to 48.
ot HPES® 100 0B ey rededo &° Toch DDYS” BdNEIDY D), L0
@I(Co owod. & DS BG[oDO0 B 46 Aot 48 HOLD (v PT) VS
RS0 TraDo

Marks out 40 and 30 and 20 and 10 and 0 and
of 30— above above above above above
50 & 40 Zobodw 30 Sobaiw 20 208civn | 10 Jobadihy | o Sobaio
@‘7”;::.53*’;1 &3 D) 23 e 23 200 23 200 &3 )
ﬁjﬂmhm—}
Paper
aab 1
I 3 22 67 82 100
IT 8 31 79 91 100
Aggregate 6 27 71 28 100
200
Sub questions

Question Number : 46 Question Id : 8650044220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many students scored less than 40% marks in aggregate?
00S0 Docs 40% QI°EY) S0 S8 D DT°CY) LV BN ﬁw&gjw
Jododd?

Options:



. 14
5 18

-

30

Question Number : 47 Question Id : 8650044221 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The approximate percentage of students that obtained 60% and above in paper II. over
the number of students that obtained 40% and above in aggregate in that paper. is

D06 11 &° 40% 208050 0B Do) ANSEN HIPE) WO SEVLLDY K‘.lcrégavsmi
&5 DDY 607% 20B0ID ot Do HITEL DS SLLLD) DTJh0 Tdo Jodh?

Options:

. 40

, 42

g4

, 48

Question Number : 48 Question Id : 8650044222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many students will pass. if there is a compulsory passing minimum of 40%
marks in paper I only?

D06 —1 & 2 B00 &SI 407% BDDVY VONSB, JoB00d Derggoen
&SduHTD?

Options:

i 18

18
31
67

Question Id : 8650044223 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



Data Analysis
GEPoT D3P

In the following pie chart, people 1n the various age groups of a town are given. The
total population of the town 15 3.00.000. Study this pie chart and answer the questions
from 49 to 53.

208 P D0 2 DS BTTErN HoDRVE HYBD BHLEIODHG.e3 D

arer 3.00.000. & p 2erdy enoirfow 49 ~Aoie 53 H6L fe 2T V8 QAT R0
oraiocG..

above 60 years
72e

|
} 40 - 60 years ,'I
D5
25 - 40 years
1084

Question Number : 49 Question Id : 8650044224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

People of 40-60 vears age group are less than those in 25-40 years age group by
40-60 JodS\T L SHoHAVS’D 2ARHNVTOAD Soéd, 25-40 RodS\T L SaBines’
250V 6@5591’9

Sub questions

Options:
| 8.000

9.600

L2

10.000

12.000

Question Number : 50 Question Id : 8650044225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What percentage of the total population in the number of people in the age group of less
than 10 years

10 205S\TroS0] S5 O DDA 2RAVDETOIY Vo, Ao 2TeeS” dodh Teho?

Options:

10
L.



15

L2

3. 24

4. 36

Question Number : 51 Question Id : 8650044226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The difference between the number of people of the minimum age group and maximum
age group of that town 1s

&3 ::Eeao a3, S:JE& SRS PAVGEADY) BTLICE) B0 f‘iﬁg S0HR05°D
RO BT G (0 g3cdo

Options:

| 20.000

25.000

-2

; 30.000
40.000

Question Number : 52 Question Id : 8650044227 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of the people in the age group of 40-60 years to that of those less than 10
years is

40-60 DoDd G QG| SCbRVAVTE 237789, 10 Vodd G Sol B8 D
SHaA LT 2aTrers) 51}:;55 quhe;g

Options:

L2

B3

9:4
Question Number : 53 Question Id : 8650044228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The people in the age group of 10-25 years and those in 40-60 years together constitute

a total population of
10-25 QoD 8000 06 Hobrwde 970 237 20dain 40-60 Vodd G000 0

SoRGwTd aorer €8> "i.'.‘}d:}é. A0 BT

Options:

i 90.000

, 1.00.000



3 1.10.000

1.20.000

Question Id : 8650044229 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)

Problem solving
R e
Data Analysis
GErod D

The number of students who play some or all the three games: Tennis. Basket ball and Hockey of
a class 1s shown in the following table. Based on this information answer the questions

34 and 35

2 Gae"D :’Jm“ég:sueﬁ*, G D, ) e dakD S 0 Sare estoeres £
g e::rﬁ')l Tl E}mﬁﬁgm Eboa_ng & S0 ?’..)&!.:JEIES‘G @:J;Sc‘.@a‘ﬁ. & DATrTEO0 Gl
WR0SR) 54 aboiw 55 PTY VL PATEEV TG,

Game Tennis Basket | Hockey | Basket Basket | Hockey | All the
298) "33;'5 ball ball & ball & & Three
EJ“::]EJ&S Hhe Hockey | Tennis | Tennis | Hawes
ey 85 | e 6 e
AR b b £36)81)
eed AL 20800
«08ain | S08aiv Eh‘li‘}
d GRS
No of
students
Dm"ac@ﬁ&&.‘r 35 30 30 10 10 8 3
“‘;ﬁna%
Sub questions

Question Number : 54 Question Id : 8650044230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of students who play only tennis. is
8) D gl s bnﬂﬁg:m R0y

Options:

24



4 19

Question Number : 55 Question Id : 8650044231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of students who play only Basket ball and only Hockey. 15
S0 &7 85 eeS SoBoin SdHewe 68 ArER0 & ﬁmﬂégsw SLE

Options:

i 25

2 28

30

=
32

Question Id : 8650044232 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Coding and Decoding Problems
Eloh, CEAoh ‘ram"’mﬁm

Directions for questions 36 to 60

56 2ooc 60 HOL (v DT VL WFLIHED

In a certain code. every n™ letter in the English alphabet 15 coded as ™ letter where 1 is
the remainder when 5n+ 7 1s divided by 26 and 1 < r < 26 For example. the 10%®

letter J is coded as 5 letter E, since (3 xX10) +7 =57 =(2x%26) +5. For decoding the
reverse process 1s followed. Based on this answer the questions 56 to 60.

28 DB E'E & esoff 0260705 n D ©L0°D), In+7 D 26 I @rAoDddEDYE Sy

For,1 <r<26 @Gﬂiﬁ'ﬁ_‘)&iﬁ} r o esscormr E& B, Gorrond 100 ©Edo T
R0 (5 X10)+7 =57 = (2X26) +5 e 5D w0 E m E& 3. CECA &, A
S50 D20 HEFW. BI Brrdorr BHD 56 Mol 60 HOD (o) DT D
2areen oraiod.

Sub questions

Question Number : 56 Question Id : 8650044233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code for ‘MONEKEY "’ 1s
‘MONKEY' e Hordé §&6
Options:

| YDTEKW

, TIDOAG
TDYJEB

L



, YITOKG

Question Number : 57 Question Id : 8650044234 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the given code. the number of letters which are coded as themselves 1s
GSEE & T03 d eoahiwim §E Babied LoTuRoa

Options:

1
2

2
i

-

3

0

Question Number : 58 Question Id : 8650044235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the given code, the number of letters which are coded as immediate next letter in the
alphabet is

GSEE &, LOITVS") DD HF BTS LS EE Dol WL Doadg

Options:

L

2

% 3

0

Question Number : 59 Question Id : 8650044236 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word 1s coded as *“VDTZYP'?
“VDTZYP = &€& ﬁ@ém&é Do H?

Options:
1 COMENT

CEMENT

L2

; CAMLIN

, COMING

Question Number : 60 Question Id : 8650044237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘MISERY 15 coded as
‘MISERY" & §& Do
Options:



 TEXASC
TZYERB
TZXFSB

- TEYDRC

I

Question Number : 61 Question Id : 8650044238 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. if ‘tee see pee’ means ‘drink fruit juice’. ‘see kee lee’ means ‘juice
i1s sweet’ and ‘lee ree mee’ means * he is intelligent’. which word in that language
means ‘sweet’

28 §& eried” ‘tee see pee’ 9083 ‘drink fruit juice’. ‘see kee lee’ 9083 ‘juice is sweet’
2080300 ‘lee ree mee” @083 ¢ he is intelligent’. eod, es270e5” ‘sweet’ e906]

Options:

| see

lee

L2

kee

4 tee

Question Number : 62 Question Id : 8650044239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language “pit nae tom™ means ‘apple is green’. ‘nae ho tap’ means
‘green and white’ and ‘ho tom ka’ means ‘shirt is white’. Then which one of the
tollowing represents ‘apple’ in that language
28 :Jgfg & eres” “pit nae tom’ 9o ‘apple is green’. ‘nae ho tap’ 903 ‘green and
white’ S08oiw ‘ho tom ka’ 9083 ‘shurt 1s whate’. DD &3 285, SS0d T°e5" DA
‘apple” AW 7

Options:

| nae

3 fom

- ka

e

Question Number : 63 Question Id : 8650044240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ‘nitco sco tingo’ stands for ‘softer than flower’. ‘tingo sho mst’ stands for * sweet
flower fragrance’ and ‘mst sco tmp” stands for * sweet than smile’. then what would
‘fragrance’ stand for?

‘nitco sco tingo” eoé3 “softer than flower’. “tingo sho mst’ €08 * sweet flower
fragrance’ 208030 ‘mst sco @08 * sweet than smile’. ©00d, es27eS” ‘fragrance’ e90&)
D& oNBH?

Options:

| rho

mst

L2

tmp
3 !

SCO
4.

Question Number : 64 Question Id : 8650044241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language. “when did vou come’ is written as “ti na ki ja’ *will you
come again’ is written as ‘na pa sa ja’ and ‘she will go’ is written as ‘pa da ra’. Then
how will ‘again’ be written in that code language?
28 ﬁlgg & erie5’. ‘when did you come’ D “tina ki ja’ma0 “will you come again’
< ‘napasaja’Trad So8cdw ‘she will go’ A ‘pa dara’ TR TR 02N & §&
2eS° ‘again’ P TE?

Options:

1, T

sa

L2

Question Number : 65 Question Id : 8650044242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language “singing is appreciable’ is written as ‘cod tip mot’. *dancing
i1s good’ 1s written as ‘mot nik min’ and ‘singing and dancing’ is written as ‘tip mop
nik’. How 1s ‘good’ written in that code language

ERTS :}EE E& eraeS” ‘singing is appreciable’ D ‘cod tip mot” me&y. ‘dancing is D ‘mot
nik min’ MR H08a3n ‘singing and dancing” D ‘tip mop nik’ TR T &5 §E
e’ “good’ D VDG TFE?

Options:
| mot
nik

11111

e



tip

Question Number : 66 Question Id : 8650044243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
a0 %ﬂé Pyl b
Date, Time & Arrangement Problems

a4, mavabo, eadanbder R[N

If 20™ March 1995 was Monday. what was the day on ish August 19947
1995 276y 20 o 86 V0T G0 oS, 1994 i 15 236 a) J°Go 0BT

Options:
Monday

BT e o)

Tuesday

ofi¥T 0o
Sunday
es&daaCo

Saturday

FDT°Co

Question Number : 67 Question Id : 8650044244 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mmavé eSS

Date, Time & Arrangement Problems
B8, Davobo, edndLe DadE

The time when the hours hand and munutes hand in a clock coincide between 3 PM and
4 PM is

208 (1C.03°6085” 3 pm 20Ba3 4 pmMS B0G (o0 J00e H0BOK IR Hew
RoTdio Bod PSvaio

Options:



3 hrs 1'?’i min
11

3 o0 1?% AMIren
S hire 16 mi

T 11 Min
3 Kot 1{3% AIrew
0 e L B

s 1 LT
3 Kobier 18%3313&‘9_1:-

5 ;
3 hrs 195 min

3 Hotre) 19% AIrew
4

Question Number : 68 Question Id : 8650044245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
a0 31:5 J5H
Date, Time & Arrangement Problems

a8, Havoio, eadandte NSRINION

A clock is set right at 5:00 AM. This clock loses 16 minutes in 24 hours. If the clock
shows 10:00 PM on the 4@ day. the true time then was
25 ﬁcio:‘u"ﬂ'“:}l 5.00 am ;ﬁg POBFD. & A airdo 24 otreres” 16 Daredd

§¢5°\B00B. & (G060 4 S Bard 10.00 pm GSrddd, W)y T°RD DIoDo
Joeh?
Options:
| 10:00 PM
10:30 PM
; 11:00 PM

, 11:30 PM

Question Number : 69 Question Id : 8650044246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

If A X B means B 1s the father of A.
A + B means A 1s the wife of B.

A = B means A 1s the brother of B.
then the relation of J with J+M=R XL is

A X B @08 A a3ws), Soc;, B, A+ B e0& B s, Wr6{ A, A+ B 9083 B 008,
DS A o8, 8Py IHM+RXLE J aing), RotoGo
Options:

Sister in law
bolatFleblelnl 6]

Daughter in law

g¢ten

Daughter
Sraodd
Sister

Wt

Question Number : 70 Question Id : 8650044247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mmav;_;‘ eSS

Date, Time & Arrangement Problems
B8, Davobo, edndLe DadE

In covering a certain distance. the speeds of A and B are in the ratio 3:4. If A arrives at

the destination 20 minutes later than B. the time (in hours) taken by A to arrive at the
destination 1s

S ABY ArTe)) BOD DOIrEees” A 080w B & drdwe QNG 3:4. B 3063

6T 20 Daresy A D ﬁ@“ﬁﬁiﬁm&oﬁ . ﬁéféﬁl OG-S A S :.‘.*egé Adoode
(Hotreres”)

Options:



Question Number : 71 Question Id : 8650044248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

A man walks at the rate of 5 kmph and arrives at the station 7 minutes after the
departure of the train. If he walks at the rate of 6 kmph. he arrives at the station in 5
minute before the departure of the train. The distance (in km) he covered to reach the
station 1s

ffot)8 5 8.2 5D HAB 28 I[8, Sevwod DN EDDYD 7 WnBIwL B6TS
DA S DET . A (fotdd 6 &9 SR A, Pevwod DN HEDDT IS

5 Doaren o VDD S BOLTED. SRISISEN BEOE IS dc Ho3Teso Bod
B0 (8D e5°)

Options:

1.
G

~

5
3.

4

Question Number : 72 Question Id : 8650044249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

Five persons A. B. C. D. E are sitting in a circle facing the centre. C is sitting second to
the left of A. D is sitting to the immediate left of B. E is immediate neighbor of neither
D nor B. Who i1s sitting to the immediate lett of D?

A.B.C.D. E @ 260D Jen 28 )T5°6085" SoGDAVENY HEND &I M. A
& JEDY) Toktd gnaoe.'i‘ C €7 T) 6. B & D020 R D S760yT) .

B S50, D80 E 20003 THHT 0 5°¢. D € D00 IEDDD) 25K
SOBNR) DT A7

Options:

B

'

i
[ s

Question Number : 73 Question Id : 8650044250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mm%ué PGD

Date, Time & Arrangement Problems
a8, Havabe, 9d0bce NSRRI

; P | 1
For non zero real numbers a and b. detinea X b = b Then Y12, (1 X E) =

API[SC TRDVow(e @ OBV b S, a X b = é - 5 % T QORIETE0. 95D

2, (1x8) -

Options:
1 35

) 65
5 101
, 110

Question Number : 74 Question Id : 8650044251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

IfaAb=a’+1b>— 3ab for any real numbers a and b. then {1 A (—1)} A {‘JE A @ =
D ToRBRos(RIT a, b 088, aAb= a®+ b’ —3ab eond, {1A (-1)}A{vVZAV2} =
Options:
1. '53
35
g =X

59

Question Number : 75 Question Id : 8650044252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
RDTg s

Date, Time & Arrangement Problems
A4, pavobhe, eadsnbte R[N

EL\F=E+F+E-F4%ETF=(E+F)—(E-F)*’=0l2)1@213)=

Options:

1 546

, 616

; 876
428

Mathematical Ability

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 8650044253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality
esodicded a0y, e

=)
K=E.Y=E,E=f_a l+xI1+_1.frl+z:
a+b b+c cta 1-x" 1 % "1z
Options:
;0
at+b+c

ab +bec +ca

Question Number : 77 Question Id : 8650044254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability
esodricied Sjvmgé@
x* Vx=(xVx)*=x=
Options:
1.n
(L=2)
e iy
1.n
@+
1+n)"
, (1+n)

Question Number : 78 Question Id : 8650044255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

fa+b +c’=8072.a:b=b:c=23:2 then the value of ais

A+b +c=8072.a:b=b:c=3:2 o003 a e
Options:
6

27

L]

1.

24



4. 18

Question Number : 79 Question Id : 8650044256 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Anthmetical Ability
esoSrieded Jrand o

=)
The cube root of a is inversely proportional to the square of b. if a =8 when b = 3 then
3.
the value of a when b= S 1s
a clng), ATV, b BV, ;ﬁtg“ﬂ)é DS AT oS’ cod. b=3 0D
a=8 eod b=3/2 900D 3 DD
Options:

16

32

4 512

Question Number : 80 Question Id : 8650044257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

/35
Taking V5 =2.2360 the value of ————=
Va2 A 73+

s
V5 =2.2360 &0 ‘Ef—dfﬁ Dexd
Options:

| 0.4247

, 0.4472

, 0.4274

, 0.4742

Question Number : 81 Question Id : 8650044258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

For a >4, Jﬁ(a — 1Y+ 2v2a7 —Ta—4~=

a>4. § JS{Q— 1D +2vV2a2 —7a—4 =

Options:

Vva+1++va—4

Vv2a—1+Ja+ 4

g V2a+1+/a—4

Vv2a+1-+Ja—4
4

Question Number : 82 Question Id : 8650044259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The greater power of 2 dividing 2400 1s
2400 &0 23fotd 2 cﬁ:us?j Eﬁé@é aTehaa00

Options:

1 2

2. 3
5

5

Question Number : 83 Question Id : 8650044260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esodricied avmgé@

If 100 < n < 999 and n leaves remainders 1 and 3 respectively when divided by 3 and 8
then the maximum value of n 1s

100 = n = 999 @Bl N 3, 8 UL 2PNWITODY e SHM 1,3 eond n
(188 Ded

Options:

. 993



O
Lh
L

L2

979
, 931

Question Number : 84 Question Id : 8650044261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality
esogicied avmgé@

To run around a track. A, B and C respectively. take 27. 36 and 45 seconds. All of
them start simultaneously at a point P on the track. The numnber of rounds made by C
when all of them meet next at P 1s

S MoE) ere) totr DEORSErJS AB,C & £ SdoRrr 27,36, 45 dsaoen

DEIHV0H. TCoBEd &) 2 wE Dot P Aol DS SPw0es” HOM FrCoDotrdd. €3
ZLD({'}JGP 200 P ;f}cg sder 533)533&3% & ﬂ:}l w0t SOTTCD.

Options:

12
5 15

3

4.

Question Number : 85 Question Id : 8650044262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

The greatest commeon divisior and the least common multiple of two numbers are 21
and 4641. If one of the number lies between 250 and 300 then the other number 1s

Gocd Dogdfe (183 5“3‘.13“535 erasiw, SN 5";:1:“535 roedaasonen 21 S8k 4641.
T7e3e5° w8 Roax| 250 £ 300 m¢595° Dol 208'E Dosdy

Options:
y 337

Question Number : 86 Question Id : 8650044263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

(-9 (-D (-5 -

Options:

. 0.04
0.01

]

Question Number : 87 Question Id : 8650044264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

The rational number given by 0.136 is
0.136 & Soberdd S6e30% Doy

Options:

| 2111

o LD

4/72
3 423

. 5/44

Question Number : 88 Question Id : 8650044265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

: . 5 ; r g il
If aj. a». a3 and a4 1s the decreasing order of the elements in {; T E’E} then aj —ag=

RSPt {25—5%%} e5°D Aareste 38 rngae a1, ar. a3, a4 90D DN ap — Ay =

Options:

T

17/56

L2

19/56

f=
217

bud



Question Number : 89 Question Id : 8650044266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality

espdricied avmgé@

If the numbers 169. 248. 416, 479. 175. 621 and 532 are arranged in descending order
based on the sum of the digits in each one of them. the middle number is
Pofen 169. 248. 416. 479. 175. 621,532 00 D8 Doy S°R0 ©oSL ATV
3Gl 958 P60 §0085° T°R LLF) N T35 2063 Roady
Options:
416

, 169

2T
3.

hn

4, 248

Question Number : 90 Question Id : 8650044267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

If the income tax is reduced from 15% to 12.5% then the tax benefit (in rupees) for a
person whose taxable income 1s Rs. 98.000/- 1s
35O DAY SR 15% Aoc: 12.5% S 3D, DAY SHIVID estradde

65°.98,000 /- o 318 & By D) 0D dodd? (ErIrabeds’)
Options:

| 3800
, 3000

Question Number : 91 Question Id : 8650044268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

esoCrigded avmgﬁ@

In a direct contest one of the candidates has polled 35% of the total votes polled but
loses by 540 votes. then the total no,of votes polled is

w8 DBGE T & w¢ 0P & TG0 LeS° 357 Lew Semyow 5D 540 & S
LEDB 2080 T 8,8 Doy

Options:



2400
2100

L2

, 1800
1860

Question Number : 92 Question Id : 8650044269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

If the cost price of 10 articles is equal to the selling price of 9 articles then the profit
percentage is

10 S20PL §'0) DV 9 SWHL 8] D DV VATV WONS T Do
Options:

1
125

1
115

L2

Question Number : 93 Question Id : 8650044270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Ability

enoricded avmgé@

The cost price of the article which fetched a profit of 12.5% by selling it for Rs. 990/- 1s
28 HRP 677,990/~ § i 12.5 % erzo 5800 350 §9) do

Options:

N 910

900

8§80

" 800

Question Number : 94 Question Id : 8650044271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

A and B started a business investing Rs. 3.5 lakhs and Rs. 6.5 lakhs respectively. After
6 months A left the business while C joined B with an mmvestment of Rs. 7.5 lakhs in
the yearend profit of Rs. 2.4 lakhs. the share of C (in lakhs of Rs) is

A, B e 260 3.5 vgen, 6. 6.5 wfen Hewedod T{ G0 FEoDotr .

SEDVL SEI°S A T (Vo Derr, 63.7.5 g Dewec S C eod S¢8 B & €D,
QoS \Trodh erFio 6. 2.4 w£en ond C Ter(egee”’)

Options:
| 0.35

0.45
5 055

o]

0.75

Question Number : 95 Question Id : 8650044272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esoricied Sjvmgé@

A. B and C start a business with capitals in the ratio 6 : 4 : 3. After four months A

withdraws half of his capital. If the vearend profit is Rs. 13.200/- then the share of A
(in Rupees) in the profit is

A B Cey6:4:3 2}5:1;)9;365 DL D m&é‘dn T GoDotrd. 4 dwe) ST D
A D b%nm&é“ QAT DD, éms‘aa‘um . VoSBT od ergo 6. 13200/~

e eocieS” A Trer ( drdrabes’)
Options:
| 4800

. 5400
, 3600
4200

Question Number : 96 Question Id : 8650044273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Ability

enoricded avmgé@

Two taps can fill a water tank individually in 10 min and 12 min. Due to a leakage 5 lit
of water 1s drained every minute. If both the taps are opened the empty tank can be
filled in 7.5 min, then the capacity of the tank (in liters)

208 SO Bocd Do VEJET 10 Jadwaren, 12 IWTY” JodAv. &8 SO o
D32 s esor HO IDIIE 5 g D woHed N'eome) ow.e5 Bothd DoHVR
2838 Sy w0 DI) & FY 7.5 WIS Jold, & T F25S (Derges” )

Options:
120

2 100

Question Number : 97 Question Id : 8650044274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

Two taps A and B can fill a tank in 6 hours and 8 hours respectively. If they are
opened alternatively every hour one after the other. starting with tap B then the time

(in hours) needed to fill the tank 1s

Botd Dolpew AB e 28 S8 D6 6 otren, 8 (Bor0e5” DA oAV . &3
DoINVA 280 BT B 208 T DA Fot) L DEIRAT , B & JCodD &3 Sg.;‘.')
:}od@:}éﬁg DA (Hotreres®)

Options:
1

L &
3

, O3
3. 7
-1
4 4

Question Number : 98 Question Id : 8650044275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

A passenger frain moving at 36 mysec crosses a person walking in the opposite
direction with a speed of 4 m/sec 1 10 seconds. The length (in meters) of the train is
DED 36 Y Do HAED 28 T TrIS IO BFS° DERD 4 WD HAES

28 53D 10 DEVES” Trenscd. & Jen FED (Doedges®)

Options:
| 360

400

L2

420
440

Question Number : 99 Question Id : 8650044276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

A person 1s running at a speed of 10 kmph and after a run of every one kilometer he
takes rest for 5 minutes. The time (in minutes) taken by the person to cover a distance
of 5 kms 1s

(005 10 $.20 Srfo & HBNG 28 J[ DO $S WD VONGD S6T°6 5 IDvaren

DFod BRODFED. &5 38 5 $.2 Grto TrLerdS HE vdvao (orwes’)

Options:

35

1.

40
45

50

Question Number : 100 Question Id : 8650044277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esodricied avmgé@

If ;ﬂl of a work 1s completed in % days the number of days to complete the rest of the
work is
208 HIS* ~Bockody © B2’ 170 B2 WAHDD HID XY BaHEDS 1 Fave Boay

Options:

1.

21/16



5 49/16

4 7/18

Question Number : 101 Question Id : 8650044278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

eapdricded avmgé@

A piece of work can be completed by A. B and C independently in 15 hours. 12 hours.
and 10 hours respectively. A and B started the work. and after 4 hours C joined them
and completed the work. The time (in minutes) C worked is

208 DA A, B, C e DEDETT 15 fotren, 12 (otrew, 10 fotrwed” JI1Pd osrwdy. A,

Bew £D2 HABDD 4 (otr 6T T¥yS C BB & DAY QPO BI . C DA B
Dsvao (Darees®)

Options:

; 60

75

“ W e

; 80

4. 96

Question Number : 102 Question Id : 8650044279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The radius (in feet) of the circle that circumscribes a rectangle whose length i1s 12 feet
and has an area of 60 square feet. 1s

12 e9corhe JED) , 60 BE6Y) e DT Vo SRS 208 &gﬁﬂadé@l D00
B aaegmséﬂgo(esmmef )

Options:

13
L.

[

Question Number : 103 Question 1d : 8650044280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

A wire in the form of a circle with a diameter 42 cms 1s bent to form a rectangle whose
sides are in the ratio 6 : 5. The area (in sq.cms) of the triangle whose sides are the
length. the breadth and the diagonal of the rectangle. is

42330.20 TR0 (10 208 HTSC SRR Jod) 6:5 I BS” Zoren (o
BYBACT G0 T DotrdDd. &8 AFHSICR T, Deewy, DEgo oIV Bz
DTV o (65.290.20 &5°)

Options:

1 4320

2160
6480

1080

Question Number : 104 Question Id : 8650044281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality

esoCricied avmgé@

The radis (in units) of the sphere whose surface area and volume are numerically
equal is

ED0d0 DT Vo, D DBATEO VoI DCTT VAT BT &) A m&&gu
(c30dees”)
Options:

Le &

Question Number : 105 Question 1d : 8650044282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

A solid copper sphere of radius 3 cms is melted to make a wire of diameter 0.2 cms.
The length of wire is

3 o2 mgaugo g0 € TN 20T Fod £0RcD) 0.2 Do.2 (R0 (v ST
SOIT DT, &3 B T (Qoeges®)

Options:
24

o
4

6

L
fad

L]

Question Number : 106 Question Id : 8650044283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

A door 1s 1 the shape of a rectangle of dimensions 10" X 7", with a semicircle on its
smaller side the circumference (in feet) of the door is (Take 1= 22/7)

107 X 77 D807ga0 S0 BEHSOGRY) W) Zh2ie 2 28 890 o 900\ 55760
=) L Q =
28 TriGo €ol. &3 Tr(Bo CINE), Tt (e2cx>e5°) (m=22/7

Options:
40

Question Number : 107 Question Id : 8650044284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The perimeter ( in cms) of a thombus whose diagonals are 40 cms and 30 cms 1s
DEGo TFedrien 40 0.2 , 30 V0. (L 28 VB BBUEHR WENELS (Vo.ab &°)

Options:
140

5 120

-



Question Number : 108 Question Id : 8650044285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

If two cubes of sides 15 cms each are joined together to form a cuboid then the surface
area (in sq. cms) of the cuboid 1s

2O 288 15 20.80 ZD2o €0 ok DoTwR £ g 68 200 V6B & &Y
203 &DBSV PTOo (5.0.2 &°)

Options:

| 2700

2475

225
S

202
4. 2025

Question Number : 109 Question Id : 8650044286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The number 466 in the decimal system i1s written in septal system as
ST 0% ;’JQ@@G Rof 466 PDTroP :3%“3 &5° o7 DT o

Options:
| 1233

Question Number : 110 Question Id : 8650044287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality

espdricied avmgé@

The largest integer k < 1110 that leaves the remainder 10 when divided by 11 is
11 & erfotdT 30 10 ;365;} e.ae'_’cigés “a}oa:]g k<1110

Options:



| 1091
11095

L2

1097
1099

Question Number : 111 Question Id : 8650044288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HA00, 2FgDBa3 bmgﬁa

If p. q are statements then ~(p < q) 1s equivalent to
P, q &0 PITTVANS ~(p > q) S SOOI

Options:
P—aVig—p

(~pAQV(~qAp)
~pA~QViPAQ

(~pVaAl=qVp)

Question Number : 112 Question 1d : 8650044289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HA00, 2FgDBa3 bmgﬁa

If p and q are two statements then the statement (p A (~q)) A ((~p) Aq)isa/an

P, g €0 Botd DITT VNS DD DIdA (p A (~q)) A((~p) Aq) 28

Options:
Tautology

. De;% ln}t’?]Sﬂ
Inverse

De5° 0



Contradiction

5 B

Comverse

g}ﬁdlgo
4

Question Number : 113 Question Id : 8650044290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHAah, 2FgDBa3 bmgﬁ@

On the set A= {a. b. ¢} therelattion R={(a.b).(b.a).(a.a)} 1s
RS A = {a. b.c} D Pototo R={(a.b),(b.a).(a.a)}

Options:
reflexive and symmetric

DT 000, 3“"%_31539

symmetric only
DD ATS
symmetric and transitive

%‘“E}l&f}o, noSalo

transitive

oS

Question Number : 114 Question Id : 8650044291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHAah, 2FgDBa3 bmgﬁ@

It A and B are two sets with 5 and 4 elements respectively. then the number of
injective mappings from A to B 1s
G0t Paddren A, B e HGHM 5, 4 Saresrte (o Daddueond A Aod B S fo
LN DIVEHL Vo

Options:

1032



Question Number : 115 Question Id : 8650044292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HA oD, g BaD n-‘.nmgﬁ@

If E € R is the maximum possible set on which f(x) =Vx+ 2+ ﬁ 1s defined
10(1-
forx €E.then F =

D8 x €ES f(x) =+vx+2 : o e
R 09008 eod(Bs 3“@55‘.5321)@ E =

DBLES0D0 SEDIRD Hod S E C

1:]4.'1 =)

Options:
(-2.0)U(0.1)
1:
[2.1]

]

[-2.0)U (0. 1)

[-2,0)U (0, 1]

Question Number : 116 Question Id : 8650044293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If the intercept between the axes of a line has mid-point at (1 . 2) then the equation of
the line 1s

2,8 DOTOD W0 06 ‘acs“}&i.‘:‘: 3 oS (1,2) 2065 DocDoNS & B
2AEGE0

Options:
| x-y+I1=0
x+yv—3=0

L2

Question Number : 117 Question Id ;: 8650044294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

The equation of the line through the point of intersection of the lines 2x + 3y = 9and x
— 3v = I and whose distance from the origin is V5 units is

ROPoDeD 2x + 5y = 0 08k x — 3y = ] e Dol Do) wgmﬁﬁejr , SAT°Q)
Doty Aol V5 aide Grde &° God DEFEY PASGE0

Options:
Tam L 47 = &
XY=
1. .
2x—y=4
3 ;
xX—2y=23
3 '
x+3y=7
4. '

Question Number : 118 Question Id : 8650044295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAoD, 2FgDBa1 n-‘_h:nga@

sin210°+ tan 855° + tan 45° =

Options:
s 0
1l
. 2
1
3. \
V3
4. 2

Question Number : 119 Question Id : 8650044296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdab, &g Dndi0h avmgé@

If tan 30° and tan 15° are the roots of the equation X+ pxtg=0then2+g-p=
PAESEo X + pr + ¢ =0 J tan30°, tan 15° en Sorerwand o)\ 2 g -p =

Options:
: 0

) |



12

L]

Question Number : 120 Question Id : 8650044297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

- 1+sin @

1
==
cos & u
Options:

1 2cos @

2tan @

" 2secH

2 cot@

Question Number : 121 Question Id : 8650044298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

D0, rgDBoH #mgaa

A kite is flying with a string inclined at 30° to the horizontal. The height of the kite (in
meters) when the string is 15 m long. is

Zraod 30° Eeo BROD) w8 Tded w8 ML ILHOS od. &8 Trdo T 15
DO D) & THDLO O Dot ? (Aerges’)

Options:

{ T

15

V2

L2

V3
15?

Question Number : 122 Question Id : 8650044299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

1 1
x+—=>5 :?’354 +—4:
X X

Options:

g
b ™

I
-1

L
[ )

529

Question Number : 123 Question Id : 8650044300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

The remainder when 3x* 4+ 16x> + 4x? + 2x + 5 is divided by 2x — 1 is

3x* + 16x7 + 4x? 4 2x 4+ 5 & 2x — 18 erfowsr dwdoy o

Options:
123
, 3&
E
2 16
141
3 16
147
4. 16

Question Number : 124 Question Id : 8650044301 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAoD, 2FgDBa1 n-‘_h:nga@

If a polynomial leaves remainder -7 and 5 respectively when it 1s divided by x — 5 and
x + 3 then the remainder when the same polynomial is divided by x? — 2x + 15 is

208 TVDA D x — 5 B x + 3 B 2R HSRMT -7, 5 Fren I, ©9d
QITVDA x° — 2x + 15 B erhonT SBy 3o

Options:



1

1 ;

2. E(B_IJ
1

. 5(3x—2)
1.0

Question Number : 125 Question Id : 8650044302 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHAah, 2P DSOD é‘:vmgéa

If x>+ x—2 is a factor of the polynomial x* + 3x® + ax? + bx + 16 then the
ordered pair (a, b) =
wond x* + 3x° + ax® +bx +16 & x7 + x — 2 28 T6rTo%o OB BN
5&3&1}361&;‘3:1}(3,1}} =

Options:
, (8,12)

, (8,-12)

, (-812)

, (=8,-12)

Question Number : 126 Question Id : 8650044303 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

Options:

L 13

a 1Z

23

20

Question Number : 127 Question Id : 8650044304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

The number of solutions of the system 3x — 4y = 3and 9x — 12y = 9 1s
;35.::‘(-3 3x —4y =3,9x — 12y = 9 & do FoT f-aoa.a.':é

Options:

. 0

i &

2

Infinitely many

(LTt :GGEP?SSG
4

Question Number : 128 Question Id : 8650044305 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, FFINECD 0P

@b
If the sum to 2n terms of the arithmetic progression 2. 5. 8..... Is equal to the sum to n
terms of the arithmetic progression is 57, 59. 61...... then n=

908 3¢ 2. 5. 8..... §°D DG 2n Hre Jwdo s FE 57. 59. 61...... S°D 206
n Hore 2EEIS DITH00S n=

Options:
; 10
2 11

3 12

13
4
Question Number : 129 Question Id : 8650044306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHAah, 2P DSOD é‘:vmgéa

If the commeon ratio of a geometric progression 1is ; and ifs sum to infinite terms is 133
then the first term of the geometric progression is

2,8 O 36 3“.:1:“;::5 qubeg %H;ﬁ)eﬁ:ﬂ, O°R @R0HIHTY 2o 133 wond IR
s (e 36 5" DG Do



Options:

19

5 38
57

76

Question Number : 130 Question Id : 8650044307 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdab, &g Doa0oD &mgéa

(B4’ = Fload® X0 a4 =

Options:

(3" +1)
l.

~(3"+1)

1)
3

|

5(3211 = 1)
4

Question Number : 131 Question Id ;: 8650044308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, ergoBak .5‘".1‘1::[2@55@

n
If the coefficients of x7 and x8are equal in the binomial expansion of (3 4 %) then n =

n
(3+3) 6596 dpons’ 17, x° o Mrsen pard2oNS N =

L.

Options:

42
L.

44
; 48

4. 33

L2

Question Number : 132 Question Id : 8650044309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

r )
= ] and |A4|*° = 1024 then @ =

If o 1s an integer. A = [rx
5

. _[a* 5 10 _ 5
uas@gagm@w,ﬂ_[S ].lAE — 1024 e200S o =
—
Options:
iy
l. =
, 2
5
4 3

Question Number : 133 Question Id : 8650044310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, Ejnaan bmgéa

sinx —cos
- [

X .
. ]:}Slllx.ﬂx-l—cﬂsx_ﬂn =
cosx sinx (—+x)

2

3
L
G @
s o)

Question Number : 134 Question Id : 8650044311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

L-2

Algebraic and Geometrical Ability

DAL, 2PfED &mgéa

i (n.,"3x—a— ,."{x-[—a:])
him, : =
(x—a)

Options:



- Bl= wl- =

I
o=
[
=

Question Number : 135 Question Id : 8650044312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, PFAOD TP

of
Y= 3x—x3 dx
Options:
3
1. 1+.'K'2
3
1+x2
2
3
2
3
4 '1—.'3{2

Question Number : 136 Question Id : 8650044313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHAah, 2FgDBa3 bmgﬁ@

The hypotenuse (in cms) of a right angle triangle whose sides are in the ratio 3:4 and
having area 24 sq.cims 1s
oo :}?’qbe_:‘é 3 4 eotur, 24 5.20.80 E?Uﬁ':’ £DAS woe) S S202) Sg;ﬁn

(20.80 ¢5°)

Options:

N

1.

12

L2

10



Question Number : 137 Question Id : 8650044314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If the two diagonals of a parallelogram are equal and perpendicular bisectors of each
other then 1t is a
28 DAToBS BB 20006 &lsEﬂu R0 NATDDINAT, €9a) WSO SE

o2) VABVOER WRAVSI0E XN d S
Options:

Rectangle

AESS0G0
)

Rhombus

mmﬁmmﬁaﬂ

Square

SBR[

Trapezium

EaPu b Blet A zﬁei:dnaae:mj

Question Number : 138 Question Id : 8650044315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAoD, 2FgDBa1 n-‘_h:nga@

If O is the center of a circle on which A. B and C are three points; and if LBOC =
100° then LABC + LACB =

O So@20™ (v Hydo 2 D0 DotdaDLL A. B, Caoenpetd, LBOC = 100°

0NS PN LABC + LACB =

Options:
| 80°

50°
. 1B0°
4. 90°



Question Number : 139 Question Id : 8650044316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

The triangle with vertices at (0. 0). (2.2)and (0. 4) is
(0,0),(2.2), 0.4 o ;3% %g"e_ur:r“ (e &zio23:00
Options:

Equilateral
AeIETETD
Isosceles

hmﬁﬁwm

right-angled but not isosceles
Vo) S0 570 D AEFTV T
right-angled 1sosceles

o) S8 P BT

Question Number : 140 Question Id : 8650044317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If (@, ) and (y, §) are respectively the points which divide the line joining(7. —5) and
(2.6)intheratios 1 :2and2: 1thena+y—f —46 =

(7.-5) , (<2 . 6) 02 $9D Garaory R 1:2, 2:1 :Ja‘qbe;_ieﬁ“ DFi2otd Dodda)ewn
(a,B), (y,8)woda+y—pB—6=

Options:

1 C

3
2
4

5



Question Number : 141 Question Id : 8650044318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Rosrge &mg{]@

The arithmetic mean of 100 observations i1s 10. Of these the anthmetic mean of the
first 25 observations 1s 12 while that of the last 65 1s 9. The arithmetic mean of the
remaining 10 observations is

100 HB3vde o600 10. He3e5° 2SS 25 HBFLDO e Socsge 12 =0
D38 65 HBIVLAL e90s 06§00 9. wADH 10 HdFLH 90820600

Options:

i 10

11

[

Question Number : 142 Question Id : 8650044319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roargs .-Q’Jvmg{j@

The mean deviation about the median of the observations 3. 5. 6. 5. 8.5.4. 8. 7and 9 is

o0& DBFVDO mcﬁériejc Aot) mqsém oS08, 3, 5.6, 5.8.5.4, 8.7, 08atn 9

Options:
1 13
.16

A

4. 1.8

3

Question Number : 143 Question Id : 8650044320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge #mg{]@

If 17 and 20 are respectively the median and the mean of a distribution then its mode 1s
28 2r25°AS 17, 20 e IHEHT 206§ (do, G0 290D ITFY) EFPTUYSo

Options:



18
16

L2

14

11

Question Number : 144 Question Id : 8650044321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
RoargE ﬂvmgée:a

The variance of the distribution given below 1s
ot BDND Dsad Dyd

L 28 . 10
A E e 10

Options:

1. 7

3 05

3.5

4 3

Question Number : 145 Question Id : 8650044322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬂvmg{)@

The quartile deviation of 15. 60. 40, 72, 50. 28 and 30 1s
15. 60. 40. 72. 50. 28 20dadw 30 © tdoTro? Do

Options:
; 18

2 16
22
20

Question Number : 146 Question Id : 8650044323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Statistical Ability

RoargE Ejvmgé@

If the sum of the squares of the deviations in 9 observations is 5 then the coefficient of
rank correlation of them is

9 HEBVDHV VTV HT® AT 5 LANS T § VBFVoFoGMEo
Options:

7
24
12
24
23
24

41
d

Question Number : 147 Question Id : 8650044324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge .%)v.mgée:a

If A and B are independent events such that P(4) = 0.9 and P(B) = 0.8 then
P(ANB)+ P(ANB)-

A, B &0 Botd RqBod Doiniden opdr, P(A) = 0.9 208050 P(B) = 0.8 wand
P(ANB)+ P(ANnB) =
Options:

’ 0.26

L2

Question Number : 148 Question Id : 8650044325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge Ejvmgé@

The probability of getting the sum 7 when two dice are thrown simultaneously 1s

Coce) FVEVA DS 50" MBIV T D Dho 73585y Roerds

Options:



| 36
5
36
2.
1
g
5
18
4,

Question Number : 149 Question Id : 8650044326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

RoargE Ejvmgé@

A natural number is chosen at random from the first hundred numbers. The probability
that the number 1s divisible by 3 or 5 1s

200G Dot VIR VoR{VS” CITGRNSOTT 8 Rodd) D DS B & Vo) 3 T&° 5

© 2ot ‘*n:na,r;ﬁée:ﬁ

Options:
39
1 100
43
. 100
47
3 100
S
100
4

Question Number : 150 Question Id ;: 8650044327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

RoargE Ejvmgé@

Three balls are drawn at random from a box containing 9 red and 6 white balls. The
probability that one ball drawn 1s red and the others are white 1s
9 8 rodoen, 6 By wodLRD &R W8 DY Ao OﬁJ"CﬁatﬁaSoﬁ“ STy todoen

DI, TS 088 6B DADID B el RoerI(S

Options:
27
91

l.



o
17
3
28
143
4.
Communication Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8650044328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

addendum

Options:
compliment

supplement

L2

3 complement

addiction

Question Number : 152 Question Id : 8650044329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

etfigy

Options:
| elegy

image

L2

prodigy

eunlogy
4. e

Question Number : 153 Question Id : 8650044330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

immaculate
Options:

| simple

gorgeous

; spotless

i coloured

Question Number : 154 Question Id : 8650044331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

pandemonium

Options:
| laughter

crowd

L2

. disintegration

4 disorder

Question Number : 155 Question Id : 8650044332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

embezzlement
Options:
1 fraudulent diversion of funds
. expressiveness
forgery
expenses

Question Number : 156 Question Id : 8650044333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

hierarchy
Options:
system of ranking



disorder

L-2

a row of high arches

a form of anarchy

Question Number : 157 Question Id : 8650044334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

One who 1s well versed in many languages is a

Options:

polymath
polygon
polvglot

polyvmer
4

Question Number : 158 Question Id : 8650044335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The arguments in the essay could not be followed as the essay lacked

Options:
CDIH])E"{EIICE

accuracy
msight
3

” coherence

Question Number : 159 Question Id : 8650044336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The government has a new programmnie to promote tourism in the state.

Options:
mnovated

. launched



3 mmvented

4 advented

Question Number : 160 Question Id : 8650044337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

Itis that he could walk 10 kms in thirty minutes,

Options:

1 immaculate

untrustworthy
incradible

imncreditable

b

Question Number : 161 Question Id : 8650044338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Algorithm and flowchart help us to
Options:
| know the memory capacity

identify the base of a number system

L2

direct the output of a printer

2 specify a problem completely and clearly

Question Number : 162 Question Id : 8650044339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A system by which someone pays for a thing in regular instalments while having the

use of it 1s called
Options:
hire purchase

hire out

; hire ling



4 hire

Question Number : 163 Question Id : 8650044340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

DOS stands for
Options:

Drive Operating System

Data Operating System

L2

Buy Operating System

; Disk Operating System

Question Number : 164 Question Id : 8650044341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

A scalar chain means a chain of superior from
Options:

bottom to top

top to bottom

left to right
3

4, right to left

Question Number : 165 Question 1d : 8650044342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

FORTERAN stands for

Options:
Formula transcription

Formula transmission

Formula transcreation

(=]

Formula translation

Question Number : 166 Question Id : 8650044343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

Saving backups of sottware programmes and data for future reference or use is called
Options:

| cache memory storage

compiling
cascading

, archiving

Question Number : 167 Question Id : 8650044344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The major advantage of using optical fibres for transmitting signals is that

Options:

they provide huge band—width

they are not susceptible to hacking

L2

" they use natural light

they transmit signal fast

Question Number : 168 Question Id : 8650044345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

A Hall Test 15

Options:
a gathering of people to take part in market research

a small printed advertisement
a person specialized in a particular job

a hall meant to take tests

Question Number : 169 Question Id : 8650044346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The list of items taken up for a discussion in a meeting is

Options:



Minutes
Memo
Circular

Agenda

Question Number : 170 Question Id : 8650044347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The Trait Theory believes that the qualities of leadership are

Options:

not inbom

mnborm

L2

a result of hard training

mstitutional

o

Question Number : 171 Question Id : 8650044348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A: T had a brush with the principal today
B: oh! Not again!

B intends to

Options:
mock at A

warm A

make light of the incident

dismiss the whole episode

miol

Question Number : 172 Question 1d : 8650044349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

“They never see eye to eye” means

Options:
They agree on many things

They do not share similar opinions
They rarely disagree

They seldom get into arguments

Question Number : 173 Question Id : 8650044350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

I hate sitting him as he always smells of garlic.

Options:
| besides

. along

at

4 beside

Question Number : 174 Question Id : 8650044351 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

He was 1n a hurry and just glanced the letter.

Options:

1 over

at

L2

3 through

o1
4

Question Number : 175 Question Id : 8650044352 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A: How could such young boys perform such prodigious feats?
B: It 1s a gift conferred on them by nature.

B attributes the children’s skill to

Options:
rigorous training

natural instinet

L2

lack of training

their parentage
4

Question Number : 176 Question Id ;: 8650044353 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The book tells us in a nutshell. problems connected with environment. The underlined

phl'ﬂ S Incans

Options:

| briefly

elaborately

12

ambiguously

(]

A clumsily

Question Number : 177 Question Id : 8650044354 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

His maiden speech as the CEO impressed everyone. The underlined phrase means his

Options:

1 last speech as CEO

first speech as CEO

L2

second speech as CEO

i only speech as CEO



Question Number : 178 Question Id : 8650044355 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Our Managing Director has been in town Monday.

Options:
1 since

for

o]

on

4 at

Question Number : 179 Question Id : 8650044356 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

I am going to an application for that job.

Options:

put out

—_

put in

put off

bl

put on

Question Number : 180 Question Id : 8650044357 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Much water under the Godavari Bridge.

Options:

1 flowed

flow

[

5 flew

4 flown

Question Number : 181 Question Id : 8650044358 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

the fruit bowl.




Options:
| pass away

pass out

k-2

pass over

L

4 pass o1l

Question Number : 182 Question Id : 8650044359 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

If 1t . the match will be cancelled.

Options:
;. will ramn

rains

L2

: would rain

4 1s raining

Question Number : 183 Question Id : 8650044360 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

They are going to the theatre tomorrow; they it the whole week.

Options:

had been looking forward to

have been looking forward to
are looking forward to

were being looking forward to

Question Number : 184 Question Id : 8650044361 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

They when the fire broke out.

Options:

had slept through

have slept by



were sleeping

are sleeping

Question Number : 185 Question 1d : 8650044362 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

After a long discussion. I finally agreed him

Options:

with

upon

on

Question Id : 8650044363 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the following passage and answer question

Feality television 15 a genre of television programming which. it 15 claimed,
presents unscripted dramatic or humorous situations, documents actual events. and
features ordinary people rather than professional actors. It could be described as a
form of artificial or “heightened” document